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Question 1- The difference between simple interest and compound 

interest at 20% per annum for 2 year is Rs 1200. Find the principal.

प्रश्न 1- 2 वर्ष के लिए 20% प्रलि वर्ष की दर से साधारण ब्याज और चक्रवलृि ब्याज के 

बीच का अंिर 1200 रुपये ह।ै लपं्रलसपि का पिा िगाएं।

A.Rs 30,000

B. Rs 20,000

C. Rs 15,000

D.Rs 12,000



https://t.me/mathbytarunsirmepl



https://t.me/mathbytarunsirmepl

Question 2- The difference between simple interest and compound interest 

on a certain sum of money for 3 years at 10% per annum is Rs 930. Find 

the principle.

प्रश्न 2- एक लिलिि धिरालि पर 10% प्रलि वर्ष की दर से 3 वर्ों के लिए साधारण ब्याज 

और चक्रवलृि ब्याज के बीच का अंिर 930 रुपये ह।ै लसिांि का पिा िगाएं।

A.Rs 30,000

B. Rs 20,000

C. Rs 15,000

D.Rs 14,000
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A.20%

B. 33.33%

C. 22.22%

D.25%

Question 3- Buy 3 get 1 free. Find discount percentage.

सवाि 3- खरीदें 3 1 मफु्ि पाएं। छूट प्रलििि ज्ञाि कीलजये।
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Question 4- Two successive discount are 10% and 20%. Find the 

single equivalent discount percent.

प्रश्न 4- दो क्रमागि छूट 10% और 20% हैं। एकि समिलु्य छूट प्रलििि ज्ञाि कीलजये।

A.30%

B. 32%

C. 28%

D.10%
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Question 5- A marked his radio at 25% above the C.P and gave customers 

12% discount on cash payment. In this way he gained Rs. 100. Find the cost 

price of radio

प्रश्न 5- A िे अपिे रेलियो को क्रय मलू्य से 25% ऊपर अंलकि लकया और ग्राहकों को िकद 

भगुिाि पर 12% की छूट दी। इस प्रकार उसे 100 रुपये का िाभ हुआ। रेलियो का क्रय मलू्य 

ज्ञाि कीलजये A.Rs 1200

B. Rs 1500

C. Rs 1400

D.Rs 1000
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Question 6-By selling a tape - recorder for ₹ 1040 a man gains 4% . If he 

sells if for ₹ 950 , his loss will be

प्रश्न 6- एक टेप ररकॉिषर को ₹ 1040 में बेचिे पर एक व्यलि को 4% का िाभ होिा ह।ै यलद 

वह ₹ 950 में बेचिा ह,ै िो उसकी हालि क्या होगी?

A.Rs 100

B. Rs 50

C. Rs 120

D.Rs 60
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Question 7- By selling 18 article , a seller gain the selling price of 3 

article . Find the profit percentage

प्रश्न 7- 18 वस्िओु ंको बेचकर, लवके्रिा को 3 वस्िओु ं का लवक्रय मलू्य प्राप्त होिा ह।ै 

िाभ प्रलििि ज्ञाि कीलजये
A.10%

B. 20%

C. 25%

D.30%
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Question 8- Ram travels 60 km at the speed 30 km/h and next 30 km 

at 15 km/h and 180 km at the speed of 90 km/h. Find his average 

speed?

प्रश्न 8- राम 60 लकमी 30 लकमी/घंटा की गलि से और अगिे 30 लकमी 15 लकमी/घंटा 

की गलि से और 180 लकमी 90 लकमी/घंटा की गलि से यात्रा करिा ह।ै उसकी औसि 

गलि ज्ञाि कीलजये?
A.40 km/hr

B. 50 km/hr

C. 45 km/hr

D.None of these



https://t.me/mathbytarunsirmepl



https://t.me/mathbytarunsirmepl

Question 9- A train running with uniform speed crosses two bridges of 

length 300 meter and 240 meter in 21 sec and 18 sec respectively. Find 

the speed of train.

प्रश्न - एक समाि गलि से चििे वािी एक टे्रि 300 मीटर और 240 मीटर िंबाई के दो पिुों 

को क्रमिः 21 सेकंि और 18 सेकंि में पार करिी ह।ै टे्रि की गलि ज्ञाि कीलजये।

A.20 m/sec

B. 30 m/sec

C. 40 m/sec

D.None of these
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Question 10- A certain sum of money with a certain rate of simple interest 

becomes doubles of itself in 5 years. Find the simple interest on a sum of 

Rs 10,000 with same rate of interest in 8 years.

प्रश्न 10- साधारण ब्याज की एक लिलिि दर के साथ एक लिलिि धिरालि 5 वर्ों में अपिे आप 

दोगिुी हो जािी ह।ै 10,000 रुपये की रालि पर 8 वर्ों में समाि ब्याज दर के साथ साधारण 

ब्याज ज्ञाि कीलजये।
A.Rs 12,000

B. Rs 16,000

C. Rs 14,000

D.Rs 15,000



https://t.me/mathbytarunsirmepl



https://t.me/mathbytarunsirmepl

QUESTION- A, B AND C START A BUSINESS WITH RS 32,000, 40,000 AND RS

48,000 RESPECTIVELY. AT THE END OF YEAR THE TOTAL PROFIT WAS RS

75,000. FIND THE SHARE OF A IN THE PROFIT.

प्रश्न- A, B और C क्रमिः 32,000 रुपये, 40,000 रुपये और 48,000 रुपये के साथ एक 

व्यवसाय िरुू करिे हैं। वर्ष के अंि में कुि िाभ 75,000 रुपये था। िाभ में A का लहस्सा ज्ञाि 

कीलजए।
A.Rs 30,000

B. Rs 20,000

C. Rs 10,000

D.Rs 45,000
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QUESTION 12- TWO TRAINS ARE RUNNING ON PARALLEL TRACK IN SAME

DIRECTION WITH SPEED 40 KM/H AND 68 KM/H RESPECTIVELY. A MAN IN THE

SLOWER TRAIN CROSSED BY FASTER TRAIN IN 18 SECONDS. FIND THE LENGTH OF

FASTER TRAIN IN METER.

प्रश्न 12- दो टे्रिें समािांिर टै्रक पर समाि लदिा में क्रमिः 40 लकमी/घंटा और 68 लकमी/घंटा की गलि से

चि रही हैं। धीमी टे्रि में एक व्यलि िेज गलि वािी टे्रि को 18 सेकंि में पार करिा ह।ै मीटर में िेज टे्रि 

की िंबाई ज्ञाि कीलजये।
A.100 m

B. 120 m

C. 200 m

D.140 m
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